1. Introduction to perimeter: Distance around a polygon or a figure is its PERIMETER. 
A regular polygon with side = a and number of sides = n is given.
Perimeter = na
Octagon with side a = 2 km, number of sides n =8. 
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P = na = 8(2) = 16 km


Perimeter of a square with length of a side a = 10 cm. 
P = a + a + a + a = 4(a) = 4(10)= 40 cm 

Polygons:
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Circle 
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Triangle 
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Parallelogram 
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Trapezoid 
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Rhombus 
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Pentagon 
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Hexagon 
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Octagon 
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Triangle 
Perimeter of a rectangle with length l = 10 m and width w = 7 m.
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P = l + l + w + w = 2(l) + 2(w) = 2(10 + 7)= 34 m 


Perimeter or circumference (C) of a circle. 
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r = radius
	[image: image13.jpg]




d = diameter
d = 2r



For every circle: Circumference/Diameter = [image: image14.jpg]


and [image: image15.jpg]


is approximately = 3.14 (or) 22/7 
Perimeter or circumference of a circle C = [image: image16.jpg]


d = 2[image: image17.jpg]


r. 

Example: 

Find the circumference of a circle with radius = 8 m. 
Circumference of a circle C = [image: image18.jpg]


d = 2[image: image19.jpg]


r = 2 x 3.14 x 8 = 50.24 m 


Example: 
Find the perimeter of the following figure: 
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a = 6.2 m, b= 8 m, c = 3 m and d = 7.1 m 
Perimeter = 6.2 m + 8 m + 3 m + 7.1 m = 24.3 m 


Example: 
The perimeter of a rectangular park is 1140 m. The length of the park is 300 m. 
Find the width of the park. 
Perimeter of the park = 1140 m 
Length = 300 m 
Perimeter of the rectangle = 2L + 2W = 2(L + W) 
2(L + W) = 1140 
2(300 + W) = 1140 
2 x 300 + 2 x W = 1140 
600 + 2 x W = 1140 
2 x W = 1140 - 600 
2 x W = 540 
W = 540/2 = 270 
Width = 270 m
